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PART—I / <i9—I
CHILD DEVELOPMENT AND PEDAGOGY / iy o @ Rrpetaien

Directions : Answer the following questions
by selecting the correct option.

Growth is

(A) qualitative change

(B) quantitative change

(C) Both (A) and (B)

(D) None of the above

Piaget was a/an

(A) Swiss psychologist

(B) American psychologist

(C) African psychologist

(D) None of the above

The test which assesses an
individual’s potential to learn a
specialized activity is called

(A) aptitude test

(B) attitude test

(C) achievement test

(D) None of the above
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4. Cognitive development theory was

advocated by

(A) W. G. Kohler
(B) B. F. Skinner
(C) Jean Piaget

(D) None of them

Thurstone identified primary
mental abilities.

(A) seven
(B) five
(C) three

(D) None of the above

Three-dimensional model of
intelligence was developed by

(A) Cattell
(B) Thurstone
(C) Guilford

(D) None of them

Good habit can be formed in the
children by

(A) applying conditioning process
(B) giving strict punishment
(C) giving formal notice

(D) None of the above
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8.

10.

In the children, overprotectiveness
of the parents, brings

(A) honesty

(B) competitive attitude

(C) lack of self-confidence

(D) None of the above

If teachers often reject, punish and
tease their students, it leads to
which one of the following
tendencies among the students?

(A) Mental retardation

(B) Inferiority complex

(C) Autism

(D) None of the above

Two-factor theory of intelligence was
advocated by

(A) Guilford

(B) Galton

(C) Spearman

(D) None of them
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11. Nail biting, thumb sucking and 11. ¥ FOICAT, 2ACOT JCTI Igs] (GRAT @R

restlessness are the behaviours el STHgesf T TR
associated with

(A) anxiety (A) TrEcers M

(B) depression (B) o™ AlCY

(C) competitive situation (C) wfscaferenere ifafefen e
(D) None of the above (D) TER @ICNE

12. In Carl Rogers’ theory, the main 12. I Fepi-93 o AT Rl 90w 28
structure of personality is the

(A) ego (A) ==Y
(B) superego (B) S
(C) self (C) o
(D) Toicaa @ICbe =

(D) None of the above

13. E. M. R. children are 13. 3 . . ﬁmm*@

(A) moderately retarded (A) FOX JAR &le £

(B) severely retarded (B) DOIB J@R & Cak
(C) mildly retarded (C) ¥ W9’ & oA
(D) None of the above (D) TR (DS T
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14. The role of a teacher in a classroom 14. G0 GAFCT AFSe PFFE 5 P 267
should be e

(A) a democratic leader

(A) TG STIEF (TOF IO

(B) a director

(B) @& “RBRIHT [T

(€) a dictator (C) e TR TCel

(D) None of the above D) © R
15. The problem of mental retardation is Sren olas 0
15. WAPR aAfeafeer Tpmh Hge A
attached with * e
(A) memory (A) Treg ACY

(B) attention (B) ST ARCY

(C) intelligence (C) qras e

(D) None of the above (D) TET @b o7
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16. Creative  potentialities of the

children can be developed through (TS AeT ____ e |

(A) punishment (A) g

(B) competitive feeling (B) m\ﬂl{ﬂ¢ \N-i\‘g@ﬂ
(C) proper training (@) oF AfRrwC

(D) None of the above (D) T#Ed @I o™
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17. Dyslexia is one type of 17. TOIERRT 261 ©F 4901

(A) psychological disorder (A) WEPR ReErel
(B) learning disability (B) e wrwaren

(C) Both [A] and [B] (C) [A] 3% [B] Ybi2
(D) None of the above (D) T @

18. Which one of the following is related
to creativity?

18. TC6a (P SJemiererd e FIFe 2

(A) Emotional thinking (A) enewes fowe

(B) Egoistic thinking (B) RR-TFRR (30oI2h5s) bEw
(C) Divergent thinking (C) M B

(D) None of the above (D) BoICRd @GR

19. Developmental process proceeds 19 Wm -«q o S 57|
from =

(A) specific to general (A) o e e

(B) simple to easy (B) 1T (A 1=
(C) general to specific (C) TR (AT R
(D) None of the above (D) THIER (DS T
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20.

21.

22.

23.

Which one of the following is the
primary factor of the socialization?

(A) Family
(B) Political parties
(C) Heredity

(D) None of the above

To encourage a child towards his
studies, a teacher needs to

(A) compare the child with other
children

(B) inspire the child
(C) scold the child

(D) None of the above

Physically and mentally handi-
capped children should be given

(A) special education
(B) general education
(C) Both [A] and [B]

(D) None of the above

In an effective classroom

(A) children never ask question to
the teacher

(B) children fear the teacher since
the teacher gives verbal and
physical punishment

(C) children do not bother about the
presence of the teacher and do
as they please

(D) None of the above
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24. Sensory-motor period indicates the

25.

26.

first

(A) one year of life
(B) two years of life
(C) four years of life

(D) None of the above

Teaching in the classroom

(A) should be connected with life
incidents

(B) should not have any connection
with life

(C) should be more theoretical than
practical

(D) None of the above

IQ can be measured by which of the
following formulae?

Age

) ———=—x%x100
Mental Age

Mental Age
(B) - x 100
Chronological Age

Mental Age

(€) .
Chronological Age

x10

(D) None of the above
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27. Parent-teacher interaction is for

28.

29.

all-round development of the child.
(A) essential

(B) not essential

(C) secondary

(D) None of the above

Class test is very important because
it helps

(A) to evaluate educational
achievement

(B) to increase the speed of writing

(C) to train students to think
logically

(D) None of the above

An arrogant student can be changed
by the teacher into a well-behaved
student by

(A) ignoring the situation

(B) giving the strict punishment

(C) applying the appropriate
stimulation

(D) None of the above

30. Gender discrimination in a

classroom

(A) does not affect the performance
of a student

(B) may lead to destroy the effort or
the performance of a student

(C) may lead to increase the
performance of a student

(D) None of the above
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PART—II : Language—I
ENGLISH

Directions : Read the passage given
below and answer the questions
(Q. Nos. 31 to 35) that follow by selecting
the correct option.

The most important day I remember in all
my life is the one on which my teacher,
Anne Mansfield Sullivan, came to me. I am
filled with wonder when I consider the
immeasurable contrasts between the two
lives which it connects. It was the third of
March, 1887, three months before I was
seven years old.

On the afternoon of that eventful day, I
stood on the porch, dumb, expectant. I
guessed vaguely from my mother’s signs
and from the hurrying to and fro in the
house that something unusual was about
to happen. So I went to the door and waited
on the steps. I did not know what the
future held of marvel or surprise for me.
Anger and bitterness had preyed upon me
continually for weeks and a deep languor
had succeeded this passionate struggle.

Have you ever been at sea in a dense fog,
when it seemed as if a tangible white
darkness shut you in? The great ship,
tense and anxious, would grope her way
toward the shore with plume and
sounding-line. And you would wait with
beating heart for something to happen. I
was like that ship before my education
began, only I was without compass or
sounding-line, and had no way of knowing
how near the harbour was. “Light! Give me
light!” was the wordless cry of my soul, and
the light of love shone on me in that very
hour.

I felt approaching footsteps, I stretched out
my hand as I supposed to my mother.
Someone took it, and I was caught up and
held close in the arms of her who had come

I1/21-A

to reveal all things to me, and, more than
all things else, to love me.

31.

32.

33.

34.

35.

On March 3, 1887, the speaker

(A) heard that somebody would visit
her home that day

(B) guessed that some unusual
thing would happen that day

(C) was told that her teacher would
come to meet her

(D) could speak for the first time in
her life

She was groping in darkness
because she was

(A) uncertain
(B) ignorant

(C) very anxious
(D) blind

The speaker compares herself
(A) to a light

(B) to a compass

(C) to a ship

(D) None of the above

The passage is a part of
(A) an adventure story
(B) a novel

(C) a fiction

(D) an autobiography

‘Tangible’ means

(A) wonderful thing
(B) clear things

(C) weakness of spirit

(D) clear and definite
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Directions : (Q. Nos. 36 to 40) Fill in the
blanks taking the appropriate alternatives
from the given options in each of the
following :

36. Take this medicine and you will get
rid __ the bad cold.
(A) from
(B) of
(C) over
(D) at

37. Exercise is beneficial ___ health.
(A) for
(B) in
(C) to
(D) towards

38. The fear that AIDS has broken __
in India is not unfounded.
(A) off
(B) up
(C) about
(D) out

39. The synonym of ‘exorbitant’ is
(A) ridiculous
(B) odd
(C) strange
(D) excessive

40. The antonym of ‘magnanimous’ is
(A) selfish
(B) naive
(C) generous
(D) insignificant

I1/21-A
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Directions Read the poem given
below and answer the  questions
(Q. Nos. 41 to 45) that follow by selecting
the correct option.

Ring out, wild bells, to the wild sky,
The flying cloud, the frosty light :
The year is dying in the night;

Ring out, wild bells, and let him die.

Ring out the old, ring in the new,
Ring, happy bells, across the snow :
The year is going, let him go;

Ring out the false, ring in the true.

Ring out the grief that saps the mind,
For those that here we see no more;

Ring out the feud of rich and poor,
Ring in redress to all mankind.

41. The poet is
(A) optimistic

(B) pessimistic

ironical in his attitude

(€)

(D) None of the above

42. “Let him die”—here ‘him’ refers to

(A) man
(B) the cloud
(C) the sky

(D) the year



43. The poet wants to the conflict
between the rich and the poor.

(A)

(B)

(C)

(D)

44,

(A)

(B)

(C)

(D)

45.

(A)

(B)

(C)

(D)
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The poet wishes the bell to ring

‘Redress’ means

increase

decrease

continue

None of the above

loudly

after repeated intervals

softly

noiselessly

sadden

increase

succeed

to correct something that is
unfair or wrong
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Directions : (Q. Nos. 46 to 50) Fill in the
blanks taking the appropriate alternatives
from the given options in each of the
following :

46.

47.

48.

49.

50.

The effects of cigarette smoking
been proven to be extremely
harmful.

(A) is

(B) are
(C) has
(D) have

Sourav, along with twenty friends,
planning a party.

(A) are
(B) have
(C) is

(D) has

Sourav sent a letter to his university
after he his scholarship.

(A) receives
(B) was received
(C) had received

(D) were received

A poem can be best taught by __ .
(A) making the students recite it
(B) oral language drill

(C) recitation and then explanation

(D) group discussion

At the initial stage, FCA focuses
on

(A)

(B)
©)
(D)

listening
speaking
writing

listening and speaking
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Directions : (Q. Nos. 51 to 54) Fill in the
blanks taking the appropriate alternatives
from the given options in each of the
following :

51. The Right of Children to Free and
Compulsory Education Act, 2009
stipulates that learning should be

(A) restricted to co-scholastic
subjects

(B) carefully monitored by frequent
testing

(C) through activities in a child-
friendly manner

(D) supported by extra coaching

52. Group project helps in developing

(A) competition

(B) good memory

(C) a high level of ambition to
achieve

(D) collaboration, critical thinking
and problem solving
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53.

54.

The best way to sensitize young
learners to rhythm and intonation is

(A) by reading out poems in
different meters and explaining
them

(B) by making the learners listen to
nursery rhymes and recite them
effectively

(C) by making the learners copy out
simple poems in neat
handwriting

(D) by explaining the rules of

phonetics in simple words

‘Phonetics’ is basically associated

with .

(A) sounds

(B) grammar

(C) rhythm

(D) vocabulary



Directions : In Question Nos. 55 to 57,
each sentence has four underlined words
or phrases. The four underlined parts of
the sentence are marked as (A), (B), (C)
and (D). Identify the one underlined word
or phrase that must be changed in order
for the sentence to be correct.

55. Writers and media personnel sell
(4)
theirselves best by the impression
(B) (C)
given in their verbal expression.
(D)

(A) A
(B) B
(€) €
(D) D

56. Air pollution, together with littering,
(4)
are many  problems
(B) (C)
in our large, industrial cities today.
(D)

causing

A) A
(B) B
€ C
(D) D

57. Nora hardly never misses an

(4) (B)
opportunity to play in the tennis
(C) (D
tournaments.

(A) A
(B) B
(€) €
(D) D
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Directions : (Q. Nos. 58 and 59) Complete
the following sentences by adding a tag
question with the correct form of verb and
the subject pronoun :

58. You and I talked with the professor
yesterday,

(A) did we?

(B) aren’t we?

(C) didn’t we?

(D) haven’t we?

59. She’s been studying English for two

years,

(A) is she?

(B) has she?

(C) hasn’t she?

(D) haven’t she?

60. The meeting ended in fiasco.

Here ‘in fiasco’ means

(A) in successful way

(B) in confusion

(C) in complete failure

(D) in acrimonious debate
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(C) FiferPT A
(D) SArmA I

78. I A AOF0 29

(A) = Y
(B) ‘Rt
(C) Pl% wor’
(D) “S[IF S’

I1/21-A
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79.

80.

81.

82.

mafwPT HFS Ao 2CeT

(A) facs@ste A9

(B) w1 IR

(C) T TP e

(D) SR I

TN ST CIFI7ICh M5 ITAICE
TAIPAG 251

(&) ‘emeR’

(B) ‘corcs qifer’

(C) ‘WA’

(D) “Ceas fer’

OIRI7% SRt TR

(A) ST BH ol
(B) SrmC oM’ oI
(C) FATICAF T’ ol
(D) wrmC e’ aics

‘TECIY’ FIC ORI 2
(A) JFIfewPT q™

(B) G e

(C) TOIHIIY A9(0!

(D) I I



83.

84.

85.

86.

“fRog 71 fog 729 78 g Femee,
IS O PRAMCZ AR =S OF =17 17

“1kfe 7iba Aol 2o
(A) FRrmL IPI

(B) To=FeT I

(C) T8 SHHH

(D) PRI

“FETCT #ATCAl T T (G (e BWCA 2
S (@ (T3 (B¢ ST’ Bl 2Ieeq 2”7

*1kfe fb TR FI I8 SHOA-9F
(A) TR TR

(B) ‘coae’ ROR

(C) “~[crc i’ FAor

(D) ‘@ RO

‘R M 2R e I5Rel 2eE

(A) FAHAI P
(B) RGN 9P
(C) “TF= T

(D) PRI wal

(A)
(B)
‘FINEA TSR

(€)

(D)

I1/21-A
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87.

88.

89.

90.

e 9orF—a2 AR o2 26

A) @ ReE 7 3
(B) ©[517 fwre
(C) ©% @TF

(D) ©% [{om

T GFIEF AT o @ @Fh oW
sifP® 23 (73 *me acE

(A) “em
(B) T
(C) Teaem

(D) ST 29

ATORIE RFFR T Face PFrpa

(A) ToBF % SR R4S e 9o
(B) (o141 2o 27
(C) TIPSR «f® w22 AT

(D) CETRITER S T

PrEE Al @
Gl PPl “I1eTe e

ICEACHRSIIEE:
(A) "2

(B) IRIRI-FTER TAmIe

(C) Pres

(D) FcfEe PR wcen Toe
ARG

[ PTO



PART—IV / Sl9—IV
MATHEMATICS / sifds

Directions : Answer the following questions | fqeafer : 510F Teg <oe S vg el

by selecting the correct option. Teq TS |
91. If /4036 = 64, then the value of 91. I /4036 = 64 7, O
V40-36 +0- 4036 + J40-36++/0-4036 +
V0004036 ++/0-00004036 J0-004036 ++/0-00004036

will be G I 23
(A) 7-1216 (A) 7-1216
(B) 7-0914 (B) 7-0914
(C) 7-1104 (C) 7-1104
(D) None of the above (D) T @ISR T

92. 7386038 is divisible by 92. 7386038 fwrey 2ca (Pl TG 712
. \ B H

(A) 3 A) 3
(B) 9 (B) 9
C) 11 © 11
(D) None of the above (D) T I

93. The number of possible pairs of

numbers, whose product is 5400 | 93- 9o TR BIFE 5400 R 9LM.B. 30

and HCF is 30, is 204, G RIBCER AR (STl 2
(A) 1 @A) 16

B) 2 (B) 26

(C) 3 (C) 3f

(D) None of the above (D) T (@ICbE T

SPACE FOR ROUGH WORK / {RF (&S Gelf Gr4N

I1/21-A 20



94,

95.

In the given figure, if AB||CD, then
the value of x is

Y
40 )/
c
130°
6x°
E A i’

(A) 26
(B) 23
(C) 13
(D) None of the above

The correct statement out of the
following is

A D
50° 60°
70° 50°
B C E F

96.

(A) AABC ~ AFED
(B) ABCA ~ AFDE
(C) AABC ~ ADEF
(D) None of the above

The smallest side of a right-
angled triangle is 13 cm, then its
hypotenuse will be

(A) 84 cm
(B) 85 cm
(C) 83 cm
(D) None of the above

94.

95.

oave foca, IM AB||CD 2, ©@ x-9d

e 23
Y
4x° 9
C
130°
6x°
E A

(A) 26
(B) 23
(©) 13
(D) TR (RICBE

fereea [feacemm T wls [gfeflt 2=t

A D
50° 60°
70° 50°
B C E F

96.

(A) AABC ~ AFED
(B) ABCA ~ AFDE
(C) AABC ~ ADEF
(D) To[Caa (FMI2

G TP fagred Fuew A2 13 G
7, fapefby wfegces e 29

(A) 84 (I
(B) 85 (¥
(C) 83 (¥
(D) Tlcad (FICbe )

SPACE FOR ROUGH WORK / {RF (&S Gelf Gr4N

I1/21-A
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97.

98.

99,

If each edge of a cube is increased
by 25%, then the percentage
increase in its surface area is

(A) 56:25%

(B) 25%

(C) 30%

(D) None of the above

The area of a square is 0-5 hectare.
Its diagonal is

(A) 50 m

(B) 100 m

(C) 5042 m

(D) None of the above

A wheel makes 1000 revolutions in

covering a distance 88 km. The
radius of the wheel is

97. M (FICN e AfSiG T2 25% i@ 7R,

98.

99,

2@

(A) 56-25%

(B) 25%

(C) 30%

(D) Tolcaa @ICAIb2 )

aFH IfCF@T CFawa 0-5 (239 20,
O Fefd o7l 2@

(A) 50 fom

(B) 100 fw

(C) 5042 fioE

(D) Ticad @ICbe @

O3 o 88 .M. oy wfeww Face
1000 IM@ TRST ICE | S AP
9 2@

(A) 7m A) 7 fi5E
B) 12 m (B) 12 f5F
(C) 14 m © 14 fitm
(D) None of the above (D) TIH -
100. The ratio of the volumes of two
spheres is 1:8, then the ratio of | 100. ’{ﬁ; CMETCHT DRSS Fep?lfo 1 : 8 (e,
their surface areas is OIS IEFOCETH CFETFCETT HeJlTo 2T
A 1:2 (A) 1:2
(B) 1:4 (B) 1:4
(C) 1:8 (C) 1:8
(D) None of the above (D) TR (@ICbE T
SPACE FOR ROUGH WORK / qIF IC&d &«lj Al
I1/21-A 29



101. The simple interest at x% for x years | 101. x% K61 M (@ YW x IRE 7
will be ¥ x on a principal of x Il = (72 Yo 2Cq
(A) Tx (A) x =Rl
(B) ¥100x (B) 100x Gl
100
©) g(loo) (©) ()%m
X x
(D) None of the above (D) T (AR T
102. A trader lost 20% by selling a watch 102. %; éd"/ 1,024 |. éﬁ%miﬁﬁ
for ¥1,024. What percent shall he < Wj ,f,\: = j
gain or lose by selling it for ¥ 1,472? 1,472 BIFR [IF P A9, 9CT =TS Al
CETIRPATCAS XTOFl 2T F9 29 ?
(A) 15
(A) 15
B) 12
B) 12
(C) 20
¢ the ab (C) 20
D) None of the above
) (D) TR (RIS
103. The average of first five prime .
aumbers is 103. =29 #(6f (Nfere 7RATF 91T W 3
A) 46 (A) 46
(B) 54 (B) 54
(C) 56 (C) 56
(D) None of the above (D) T (I =T
0 160 99 30%
104. Ifw = 48, then the value of | 104. bl - 48 =, 9T x-99
x
x is T 23
(A) 1 A) 1
(B) 2 (B) 2
1 1
C Q) =
© 3 © 3
(D) None of the above (D) T (@ICbE T
SPACE FOR ROUGH WORK / qIF IC&d &«lj Al
I1/21-A 213 [ PTO



105. The sides of a triangle are in the | 105. ¢ fqeces AR (Ml T
ratio lll and its perimeter is lll aR AR 104 G =,
23 4 234
104 cm. The length of the largest f&lg@mﬂ J2ey q2d oy 2@
side is
(A) 52 G
(A) 52 cm
(B) 48 (I
(B) 48 cm
(C) 51 GIfW
(C) 51 cm
D) TFE @ICbe
(D) None of the above (D)
106. A man saved ¥ 600 in 30 days. The 106. f; F@ 301 E 6%%% %T@ TR 0 |
number of days needed by him to ot L ) T PACE PO
save ¥ 1,160 is G 2GS =09 2
(A) 66 (A) 66
(C) 58 (C) 58
(D) None of the above (D) T (FICTb2 T
7 14 7 7 14 7
LT SR 107. —, —— 9R —-97 A8,
107. The HCF of 90’ 15 and 0 is 20’ 15 %75 2«
7 7
P A N
A 90 A 90
14 14
- B) —
(B) 45 (B) 45
7 7
C) — c) —
© 45 ©) 45
(D) None of the above (D) T (FICAMNDS
SPACE FOR ROUGH WORK / I (&9 &) SRIAl
I1/21-A 24



108.

The value of (0-63+0-37) is
(A) 1-00
(B) 0-101
(C) 1.01

(D) None of the above

108. (0-63+0-37)-99 W 31

(A) 1-00
(B) 0-101
(C) 1-01

(D) TR @IS

109. Ais twice as skilled a workman as B | 109. B S5 A &G%9 wF A @2 T
and together they finish a piece of GFcg G0 e 18 WM ™o w¢d |
work in 18 days. In how many days A G| W Y 0O O T (7T 2
will A finish the work?
A) 27 s
(A) 27 days
(B) 18 days (B) 18 @
(C) 36 days (C) 36 fim
(D) None of the above (D) ToRa (AR T
110. If3* 4=5and 2* 5=+/29, then the | 110. M 3% 4=5 &R 2% 5=29 =, O
value of 6% 8 is 6% 8- A 2]
A) 14 (A) 14
(B) J41 (B) v41
(C) 10 (C) 10
(D) None of the above (D) TR (IICAMNDS
SPACE FOR ROUGH WORK / I (&9 &) SRIAl
I1/21-A o5 [ PTO



111. 115 =2 then the value of[ 2+ ¥~ %| | 111. #f X2 o, v (24 Y% |an 9w
y 5 8 y+x y 5 8 y+x
is 2
49 49
A) — 7
(A) 75 (A) -
53 53
B) — o0
(B) 75 (B) =
23 23
C) — o
©) 54 © o
(D) None of the above (D) TR @A
112. The nearest integer to 58701 which | 1192, 58701-9q 5@ ~Foa0! =4S 7R Al
is exactly divisible by 567 is 567 =[l feres, Gt 2e
(B) 58768 (B) 58768
(C) 58068 (C) 58068
(D) None of the above (D) TR (HICAGE 7w
113. At 18dq m long trgiln crolsst(;s aman | 113 180 fi5M e <« Gow AT
Za:elc::fis \(;\?hat isethepsae(c?(;n;f tlllre1 Al @ EE  Howw S
NV P 6 CICFS T o, ©d (b Tho o
' ek 27
A) 90
(A) E‘/ ; (A) 90 Ffi. /9%
B) 108 km/hr
EC; 120 & j . (B) 108 &.f4./9%1
m/hr
(C) 120 f&.f3./3951
(D) None of the above
(D) TR (RIS
114. One litre of water weighs 1 kg. How
many cubic millimeters of water will | 114. @& ROR Seom eo@ 1 el 231 T
weigh 0-1 gm? TNTERGR Se @S  0-1 & 3¢d 2
(A) 10 (A) 10
(B) 100 (B) 100
(C) 01 (C) 01
(D) None of the above (D) TR (FICAMNDS
SPACE FOR ROUGH WORK / qIF IC&d &«lj Al
I1/21-A 26



115. Human development is 115. SFCEd TP 2e
(A) quantitative (A) IReRIEP
(B) qualitative (B) @°[mF
(C) both quantitative and qualitative (C) ~RTRIEF 8 BRHF TSxD
(D) None of the above (D) TACET (FICAD2 7T
116. The full form of CCE is 116. CCE-« 7~ Tl 27
(A) Comprehensive and Continuous (A) Comprehensive and Continuous
Evaluation Evaluation
(B) Continuous and Comprehensive (B) Continuous and Comprehensive
Evaluation Evaluation
(C) Cluster and Comprehensive (C) Cluster and Comprehensive
Evaluation Evaluation
(D) None of the above (D) TR RIS T
117. The nature of mathematics is 117. aifices ‘3@% 25
(A) logical (A) FeoTre
(B) ornamental (B) SRR
(C) difficult (C) 3foa
(D) None of the above (D) T4 @D T/

SPACE FOR ROUGH WORK / {RF (&S Gelf Gr4N
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118. Abacus is used in the 118. RIS JKZ® 27

(A) lower classes for counting (A) ™8 ciface siem P
(B) higher classes for counting (B) T cxfeice alef icy
(C) Both ‘ types of classes for (C) T=y cifiice siom i
counting
(D) TR (RICAINLE T

(D) None of the above

119. Which of the following is common 119. fiom Al cuffes s

teaching material in the classroom? S 2

(A) Map or Figure (A) Wia 1 =l

(B) Book (B) &=

(C) Blackboard (C) WFETE

(D) None of the above (D) Toad FICIGS

120. Four distinct stages of child’s | 150, fireg Qe Rorce B [ s@
intelligence development are T P

identified by

(A) Piaget (A) s
(B) Kohlberg (B) crerIef
(C) Erikson (C) @R
(D) None of them (D) 9T (FT

SPACE FOR ROUGH WORK / {RF (&S Gelf Gr4N

I1/21-A g



PART—V [/ Sl9—V
ENVIRONMENTAL STUDIES / =fca=if<wi

Directions : Answer the following questions
by selecting the correct option.

121.

122.

123.

124.

125.

I1/21-A

Renewable natural

include

(A) air

(B) water

(C) soil

(D) Both (A) and (B)

resources

Which of the following is essential
for body growth and formation of
new cells?

(A) Carbohydrate
(B) Mineral

(C) Protein

(D) Fat

In an ecosystem, energy
(A) is released

(B) is absorbed

(C) flows

(D) None of the above

What is Green Bench?

(A) A division of High Court that

deals with cases related to

environment

(B) A division of Ministry that deals
with environment

(C) It is a division of Pollution
Control Board

(D) None of the above

The term ‘ecology’ was introduced by
(A) Ernst Haeckel

(B) E. P. Odum

(C) A. G. Tansley

(D) Ramdeo Mishra

Aot « 0F Teg v F@ e epafR

Teq ms |
121. ~[RIFEEC] AP oM 23]
(A) <
(B) @@
(C) =6
(D) (A) @R (B) T=x2
122. ffiRe @@ oeen I 932 T99 @

123.

124.

125.

20

AR T Sl 2
(A) FA=CEs
(B) «fere omief
(C) cafom

(D) =76

G3fs qrEgecy, e

(A) fofe =7

(B) ¢iRe =7

(C) =aIfZs =7

(D) T°[Cad FICbe |

Mercaze 52

(A) T SmECed g0 Relel Al AR
(S el ST S|

(B) RHIEE WHIA GO {6l A
AT I T~7fFe

(C) 2= e 73 @l o @i
el

(D) ToCaa @ICAb2 )
(A) ST (aCRe

(B) 3. f9. su™

(C) «. f&. T

(D) RS Ry

I PTO



126. In India, vast reserves of natural gas | 126. SEeI@ APl MER M ©eE

are found in RISHINQEY
(A) Tripura (A) faomics
(B) Rajasthan (B) Ar&ZICe
(C) Maharashtra (C) EIE
(D) All of the above (D) Tolcaa Al

127. The concentration of which gas is | 107 <@ “ifFEe @ oTPIE eI
the highest in our environment?

ST @12
(A) Oxygen R -
(B) Hydrogen (B) 7
(C) Nitrogen ©) 5
(D) Carbon dioxide (D) T o f

128. The main objective of family welfare
programme is

128. I FeTe 2FCae o1 Tl 29

(A) PR e

(A) population control

(B) disease control (B) sl ferergel

(C) Both (A) and (B) (C) (A) &% (B) T2

(D) None of the above (D) TG (IR 7
129. Grazing food chain starts from 129. WW PTEE S =

(A) producers (A) TME (AP

(B) decomposers (B) e e

(C) macroconsumers (C) JZPeT AP (AP

(D) None of the above (D) TG (PR 7

130. In a pond ecosystem, the produceris | 130. «3f6 [P EOCE, T 2

(A) phytoplankton (A) FTRCBIZIRG

(B) zooplankton (B) G2I=D

(C) small fish (C) =B A

(D) None of the above (D) YRR @IS T/

I1/21-A 20



131.

132.

133.

134.

135.

I1/21-A

The Wildlife Protection Act was
enacted in the year of

(A) 1970
(B) 1980
(C) 1972
(D) None of the above

The
environmental education is

main purpose of studying

(A) to maintain essential

systems

€Co-

(B) to preserve genetic diversity
(C) to maintain life support system

(D) All of the above

Fluoride pollution mainly affects
(A) brain

(B) teeth

(C) heart

(D) kidney

Which of the following Wildlife

Sanctuaries of Tripura has ‘Butterfly
Park’?

(A) Rowa Wildlife Sanctuary

(B) Gumti Wildlife Sanctuary

(C) Trishna Wildlife Sanctuary
(D) Sepahijala Wildlife Sanctuary

Which of the following rivers of
Tripura has a direct confluence with
the Bay of Bengal?

(A) Haora
(B) Gumti
(C) Deo
(D) Feni

31

131.

132.

133.

134.

135.

JTLTT AL SR 29 ZCECR
(A) 1970 AICeT

(B) 1980 AICeT

(C) 1972 ACe

(D) T°ICad FICbe =&

IR S o1 ol 28
(A) @wgee TEoRSER THICTH
(B) T Gafbcaa sisasel

(C) GRFMIN IRZIOCT TR
(D) Tocad 0

FETRT U TS AFIB FCI
(a) =

(B) WS

(C) TP

(D) g%

fave @ wremEe ‘aeefe Tue’
g ?

(A) R STSEC]

(B) CoTTS! STSA=eL

(C) Pl STSA[D

(D) Piii2iee Srexme

¢ AP WeoTCR 2

(A) €T

(B) (armrel

(C) s

(D) &

I PTO



136.

137.

138.

139.

140.

I1/21-A

The three major living components
of an ecosystem are

(A) producers, consumers and
decomposers

(B) producers, autotrophs and
decomposers

(C) heterotrophs, consumers and
decomposers

(D) detrivores, consumers  and

herbivores

The best way to prevent soil erosion
is to

(A) develop forest
(B) increase the number of birds
(C) increase grazing land

(D) None of the above

Who initiated the Chipko Movement
in India?

(A) S. N. Bahuguna
(B) S. L. Bahuguna
(C) H. N. Bahuguna
(D) H. L. Bahuguna

Mangroves are found in
(A) coastal areas

(B) ponds and lakes
(C) forest in arid areas

(D) All of the above

Global warming is caused by
(A) methane

(B) nitrogen dioxide

(C) greenhouse gases

(D) hydrogen

39

136. IO foib 241 &I ToWI 291
(A) TMF, I 4R RS

(B) TrAWS, Feol&l @R R
(C) “[RcerS, 4 «3R R
(D) JO&, P IR TOCSIG!

137. Yfeal =9 @1¥ T cdTes TR 29
(A) IS I

(B) =g 40 I

(C) vReTeRE f[EIE

(D) T/ @ICbe ./

138. SRS AP SACHIER BT FCI
(A) @1, @, IZBl
(B) @1, @@l q2%el
(C) «3b. @ 2B

(D) «2p. @, q2%ql

139. AT W41 AR

(A) TS T%eCeT
(B) *[FF 4R Tfce
(C) % JeT%eCa

(D) TR SR

140. ™ TR Tz

A) s

(B) TI2CQICT TR
©) AT ST
(D) 2IRCGICE



141.

142.

143.

144.

145.

I1/21-A

The 3R principle of waste

management is

(A) Reduce, Regain, Reuse
(B) Reduce, Reuse, Recycle
(C) Reduce, Reform, Reuse

(D) Reduce, Retain, Regain

What is e-waste?

(A) Hazardous chemical waste
(B) Ecofriendly waste

(C) Obsolete electronic waste

(D) None of the above

Which among the following is the
most energy-efficient?

(A) Incandescent bulb
(B) Fluorescent tube light
(C) Compact fluorescent lamp

(D) All of the above are equally
energy-efficient

The full form of MOEF is
(A) Ministry of Forest and Energy

(B) Ministry of Environment and
Forests

(C) Management of Environment

and Forestry
(D) None of the above

Environmental study involves the
study of

(A) ecology

(B) physical science
(C) chemistry

(D) All of the above

33

141.

142.

143.

144.

145.

G RIS 3R TS I9ce @R

(A) Reduce, Regain, Reuse
(B) Reduce, Reuse, Recycle
(C) Reduce, Reform, Reuse

(D) Reduce, Retain, Regain

3ol 2

(A) g AP SRS

(B) RG-Sl

(C) afest zca A (Apfess Seia
(D) TR @GS o’

ffere @@ [ @ R[ye-
AR 2

(A) ©rFa 11 den [Refrife

(B) FCACTS ATl

(C) FA7NZ FERCTS IS

(D) T TR A Ry -STrEeE

MOEF-&7 7~ G 231
(A) Ministry of Forest and Energy

(B) Ministry of Environment and
Forests

(C) Management of Environment

and Forestry

(D) TR @Iebe =

AR =Tef® 2&
(A) IR

(B) CoreRem

(C) PRI

(D) Tofcaa 0

I PTO



146.

147.

148.

149.

150.

I1/21-A

The largest amount of freshwater is
found in

(A) underground water body

(B) polar ice and glaciers

(C) lakes and streams

(D) rivers

Which one of the following is known
as ‘poor man’s timber’?

(A) Rubber

(B) Bamboo

(C) Rosewood

(D) None of the above

The first Earth Summit was held at
Rio de Janeiro in the year

(A) 1992
(B) 1996
(C) 2002
(D) 2006
Which one of the following is not a

gaseous cycle in
ecosystem?

biogeochemical

(A) Nitrogen cycle
(B) Carbon cycle
(C) Sulphur cycle
(D) Phosphorus cycle

Ecosystem is the smallest unit of
(A) Ionosphere

(B) Lithosphere

(C) Biosphere

(D) Mesosphere

34

146.

147.

148.

149.

150.

¢ “fe [Wig & onew I
(A) T-TEE T

(B) CRPAMCR AT 3R oace
(C) 2 ¢ Jfice

(D) e

FRETRS (@EL TRE AR F0° A
Affo® 2

(A) TR

(B)

(C) (CaIIoRFIo

(D) TR (FICb8 =/

AN P e [He U (eeafiere
EOENEIE]

(A) 1992 e

(B) 1996 e

(C) 2002 e

(D) 2006 &

afle @@ ImecEm s CoF
TP 5 T 2

(A) RIS b
(B) TR b

(C) oI b
(D) TP 5F

IREeY e (AT Y 96 2
(A) SR

(B) fercanfers

(C) IR

(D) PR
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READ THE FOLLOWING INSTRUCTIONS CAREFULLY :
faferiere fde=en SiceT Fea =g

1.

. The Candidates will have to sign twice in the Attendance Sheet presented by the Invigilator on duty; first

10.

11.

12.

13.

Out of the four alternatives for each question, only one circle for the correct answer is to be darkened
completely with Black Ballpoint Pen on the OMR Answer Sheet. The answer once marked is not liable to be
changed.

2/fefl 2exrm Te f2oiica ca viafl s creal wiice 1 (A0 Wy 8 Teaiby (Ao OMR Teeica (redl Jafb Slestl - For
B T ofACe FICE e BT F90 27 | G419 T BfFe 91 207 ¢oeet ©Ied O AR T4 A0 A
The candidates should ensure that the OMR Answer Sheet is not folded. Do not make any stray marks on the

OMR Answer Sheet. Do not write your Roll No. anywhere else except at the specified space on the OMR Answer
Sheet.
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Handle the Question Booklet and OMR Answer Sheet with utmost care, as under no circumstances (except
technical defect), another set of Question Booklet and OMR Answer Sheet will be provided.

OMR TE17[@ 32 2P7[0a IRICH AP o] SReTge 0O B | (FICT SECLR (Y09 (b € “mfosre @fb 2/el) OMR Teso[@
K] ﬁﬁ"i@"iiﬁ@'—\lwmml

The candidates will write the correct Question Booklet Number and OMR Answer Sheet Number in the
Attendance Sheet.
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The Candidates are not allowed to carry any textual material, printed or written, bits of papers, pager,
mobile phone, electronic devices or any other material except the Admit Card and Photo Identity Card inside
the Examination Hall/Room.
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Each candidate must show on demand his/her Admit Card and Photo Identity Card to the
Invigilator /Examination Officials.
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No candidate, without special permission of the Centre Superintendent or Invigilator, should change his/her
seat in the Examination Hall/Room.
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after taking their seats in the Examination Hall/Room and second at the time of handing over their OMR
Answer Sheet to the Invigilator.
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The candidates should not leave the Examination Hall/Room without handing over their OMR Answer Sheet
to the Invigilator on duty and without signing the Attendance Sheet twice. Cases where a candidate has not
signed the Attendance Sheet a second time will be deemed not to have handed over the OMR Answer Sheet
and dealt with as an unfair means case.

SCHCT Ab-« (BAR FH | G FEAS B[S GCebe- 43 195 OMR T@a71q &l (163 A1 (FICA *R=FI #1 281 ool
FACS AT =11 1 A0 CRICAl “RFIT SICBCL M- 9 (2 FFe 1 T O ffT O OMR Tw#[a Sl FCeeifel T 9197 20 9=
oo T 21109 =1 = |

Use of any type of calculating device is strictly prohibited.
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The candidates are governed by all the rules and regulations of the Board with regard to their conduct in the
Examination Hall/Room. All cases of unfair means will be dealt with as per rules and regulations of the
Board.
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No part of the Question Booklet and OMR Answer Sheet shall be detached under any circumstances.
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On completion of the test, the candidate must hand over the OMR Answer Sheet to the Invigilator in the
Hall/Room. The candidates are allowed to take away the Question Booklet with them.
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